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QUESTION 1

What is the expected output of the following code? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 

 

QUESTION 2

What is the expected output of the following code? print(\\'Mike\\' > \\'Mikey\\') 

A. False 
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B. True 

C. 1 

D. 0 

Correct Answer: A 

 

QUESTION 3

How many stars (*) will the following code output to the screen? 

A. one 

B. six 

C. two 

D. three 

Correct Answer: D 

 

QUESTION 4

How many elements will the following list contain? 

data = [i for i in range(-1, 2)] 

A. one 

B. two 

C. zero 

D. four 

E. three 

Correct Answer: E 

PCEP-30-02 PDF Dumps | PCEP-30-02 VCE Dumps | PCEP-30-02 Practice Test                                3 / 4

https://www.geekcert.com/pcep-30-02.html
https://www.geekcert.com/pcep-30-02.html
https://www.geekcert.com/pcep-30-02.html


https://www.geekcert.com/pcep-30-02.html
2024 Latest geekcert PCEP-30-02 PDF and VCE dumps Download

 

QUESTION 5

What is the expected output of the following code? 

A. (2, 1, 1) 

B. (1, 1, 1) 

C. (2, 2, 2) 

D. The code is erroneous. 

Correct Answer: D 
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